

                  مدرسة علي رضا الركابي الاساسية للبنين
امتحان الصف السابع الأساسي- امتحان شهر الثاني
اسم الطالب: _______________________ الشعبة: _____          العلامة الكلية: /20
*************************************************************************
1.  Read  the  following  text  and  answer  the  questions  below.           [  4 points  ]
Sherlock Holmes is more famous than Poirot and Miss Marple .In fact , he is the most famous detective of all time. The basis of his method was observation , observation and observation .After observing an-object , he made logical conclusion. Hercule Poirot was less interested in details than Holmes .He was more interested in studying the mind of the suspects. He thought that the best tools to solve a crime were the "little grey cells " in the brain. So, he sat quietly and thought .
    1. How did Holmes solve a crime ?
…………..……………………………………………………………………………           .. ..     2.What is the title of the text  ?
...…………………………………………………………………………………………               3. According to Poirot , what are the best tools to solve a crime ?
...........................................................................................................................................
   4. Who is the famous detective of all the time ?
…………………………………………………………………………………………….
2.  Complete with the correct past simple.                     [  6  points  ]	
1. Ali ------------- (forget ) to do his homework.

2. I ---------------   ( be ) very happy yesterday in my friend's party.

3. the detective ------------------- ( investigate ) many cases last month.

3.  Match the words with the definitions.                                                   [  4  points  ]
	1.  Easy .
	A-Wise

	2.  He makes a good decisions .
	B-Elementary

	3.  Polite .
	C-Owner

	4.  A Person who has something for himself .
	D-Pleasant


___________________________________________________________________________
4.Complete with the correct adjective.

A. Samer is standing in the middle .He is the ---------------- (fat ) of all. He is the --------------
( pleasant) one in the three of them.

B. Sherlock Holmes was --------------------- ( professional ) than Poirot

C. The Shark is -------------------- (big) than the fish.
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